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C EEamOnE | BmEs 12972001 [ | T ER20 6 [ mifcie | LD RLNRBN] /Neh20 HI G
. SEMNMOTIRICHEET S aERHA
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S X 4 .(Er,na; Tmb@d)&ﬁ%ﬁ j@ﬁé X 4 Tiﬁﬁg%’;(?niqu .Zln*? jj(tiol\licn?)é X 4 ,(Er,na; J:mb(i)@ttm jj(gl)qzcn%é X 4 J:Jnﬁia(z)wtl:.s; 'Z]n%{ jJ(;DNzcnié
1 100kN/MZ#B % % — -~ = —|3mZzBRB| — ~ — — — | 100kN/mM%#B 2% — — ~ — —|3m%HBZ B — ~ — — —
zh st 1.00 10.00 ~ 7.72 99.05 | Zh st [0.00 ~ 7.72 | 1.93 9.76 Fhst 1.00 | 5.00 ~ 12.43 99.05 | Zhuist | 5,00 ~ 12.43| 1.93 9.76
9 100kN/MZ#B % % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%#B 2% — — ~ — —|3mZEBZS — ~ — — —
Zhnst 1.00 10.00 ~ 7.03 89.13 | #h st [0.00 ~ 7.03| 1.93 9.76 Fhs 1.00 | 5.00 ~ 10.08 89.13 | #hust | 5,00 ~ 10.08 | 1.93 9.76
3 100kN/MZ#B % % — -~ = —|3mZEBRE| — ~ — — — | 100kN/mM%#BZ % — — ~ — —|3mEBZS — ~ — — —
Zhst 1.00 10.00 ~ 7.08 89.84 | #h st [0.00 ~ 7.08| 1.84 9.29 Zh st 1.00 | 5.00 ~ 9.00 89.84 | #hust | 5,00 ~ 9.00 | 1.84 9.29
4 100kN/MZ#B % % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%#B 2% — — ~ — —|3m%EBZS — ~ — — —
Zhn st 1.00 10.00 ~ 7.64 97.82 | #hLst [0.00 ~ 7.64 | 2.03 10.27 Fh st 1.00 | 5.00 ~ 10.71 97.82 | #hust | 5,00 ~ 10.71| 2.03 10.27
5 100kN/MZ#B% % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%#B 2% — — ~ — —|3mEBZS — ~ — — —
zhnst 1.00 ]0.00 ~ 6.21 77.91 | =AU 10.00 ~ 0.00 | 1.57 7.91 Fhs 1.00 | 5.00 ~ 8.00 7791 | £ALS | 5.00 ~ 8.00| 1.57 7.91
6 100kN/mMZH#BZ % 1.00 [0.00 ~ 3.46 155.68 [3mZi#EZ5[0.00 ~ 2.05| 3.90 19.70 | 100kN/m%#8x5 | 1.00 |10.67 ~ 62.51 155.68 [3mZ#EZ5[30.00 ~ 62.51 | 3.90 19.70
zhLst 1.00 |3.46 ~ 11.24 100.00 | =#Llist [2.056 ~ 11.24] 3.00 15.16 Zh st 1.00 | 5.00 ~ 10.67 100.00 | #n st | 5.00 ~ 30.00 | 3.00 15.16
7 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.39 154.41 [3mZx#%5(0.00 ~ 2.01 | 3.87 19.58 | 100kN/m%i#8x5 | 1.00 |10.72 ~ 61.40 154.41 [3m%#BZ5[30.00 ~ 61.40| 3.87 19.58
ZhLst 1.00 |3.39 ~ 11.17 100.00 | =#Llist [2.01 ~ 11.17] 3.00 15.16 zhs 1.00 | 5.00 ~ 10.72 100.00 | #n kst | 5.00 ~ 30.00 | 3.00 15.16
8 100kN/mM#ZH#BZ % 1.00 [{0.00 ~ 3.21 151.31 [3mZE#%25(0.00 ~ 1.93 | 3.82 19.31 | 100kN/m%#8x5 | 1.00 |10.87 ~ 59.95 151.31 [3m%#BZ5[40.00 ~ 59.95| 3.82 19.31
ZhnLst 1.00 |3.21 ~ 10.99 100.00 | =#Llist [1.93 ~ 10.99] 3.00 15.16 Fhs 1.00 | 5.00 ~ 10.87 100.00 | #n kst | 5.00 ~ 40.00 | 3.00 15.16
9 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.15 150.35 [3m%i#&Z5[0.00 ~ 1.91] 3.81 19.24 | 100kN/m%#8x5 | 1.00 |10.92 ~ 59.42 150.35 [3mZ# 2 5[40.00 ~ 59.42 | 3.81 19.24
ZhnLst 1.00 |3.15 ~ 10.94 100.00 | =#Llist [1.91 ~ 1094 3.00 15.16 Zhst 1.00 | 5.00 ~ 10.92 100.00 | Z#n st | 5.00 ~ 40.00 | 3.00 15.16
10 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.28 152.63 [3ImZx#%25(0.00 ~ 1.97 | 3.84 19.43 | 100kN/m%i#8x5 | 1.00 |10.80 ~ 58.45 152.63 [3m#%#BZ5[30.00 ~ 58.45| 3.84 19.43
Zh st 1.00 |3.28 ~ 11.07 100.00 | =#Llist [1.97 ~ 11.07] 3.00 15.16 Fhst 1.00 | 5.00 ~ 10.80 100.00 | £#n kst | 5.00 ~ 30.00 | 3.00 15.16
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Fhst ~ st ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ zh s ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
Zh s ~ Zzh st ~ zhs ~ Zzh st ~
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